KERALA PUBLIC SERVICE COMMISSION INTERVIEW PROGRAMME FOR THE MONTH OF FEBRUARY 2013

KERALA PUBLIC SERVICE COMMISSION, THULASI HILL, PATTOM, THIRUVANANTHAPURAM

Date	Time	Name of Post & Department Category No.	No. of Candidates Admitted	No. of Members
	10.15 a.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	15x2 (2 Boards)	4 Members
06/02/2013	2.00 p.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	10x2 (2 Boards)	4 Members
	10.15 a.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	15x2 (2 Boards)	4 Members
07/02/2013	2.00 p.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	10x2 (2 Boards)	4 Members
	10.15 a.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	15x2 (2 Boards)	4 Members
08/02/2013	2.00 p.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	10x2 (2 Boards)	4 Members
	10.15 a.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	15x2 (2 Boards)	4 Members
	10.15 a.m	Junior Instructor (Electrician) Industrial Training 69/2008	23	2 Members
12/02/2013	2.00 p.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	10x2 (2 Boards)	4 Members
	2.00 p.m	Junior Instructor (Electrician) Industrial Training 69/2008	16	2 Members
	10.15 a.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	15x2 (2 Boards)	4 Members
	10.15 a.m	Junior Instructor (Electrician) Industrial Training 69/2008	22	2 Members
13/02/2013	2.00 p.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	10x2 (2 Boards)	4 Members
	2.00 p.m	Junior Instructor (Electrician) Industrial Training 69/2008	16	2 Members
	10.15 a.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	15x2 (2 Boards)	4 Members
	10.15 a.m	Junior Instructor (Electrician) Industrial Training 69/2008	22	2 Members
14/02/2013	2.00 p.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	10x2 (2 Boards)	4 Members
	2.00 p.m	Junior Instructor (Electrician) Industrial Training 69/2008	16	2 Members
	10.15 a.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	15x2 (2 Boards)	4 Members
	10.15 a.m	Junior Instructor (Electrician) Industrial Training 69/2008	22	2 Members
15/02/2013	2.00 p.m	Higher Secondary School teacher Malayalam (Jr & Sr) Higher Secondary Education 114/2010	10x2 (2 Boards) (Bal.1004)	4 Members
	2.00 p.m	Junior Instructor (Electrician) Industrial Training 69/2008	16 (Bal.Nil)	2 Members

					1
	10.15 a.m	Staff Nurse Gr.II - Health Services	201/2010	20x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
19/02/203	2.00 p.m	Staff Nurse Gr.II - Health Services	201/2010	15x3	6 Members
	•	District Office: Thiruvananthapuram		(3 Boards)	
	10.15 a.m	Staff Nurse Gr.II - Health Services	201/2010	20x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
20/02/2013	2.00 p.m	Staff Nurse Gr.II - Health Services	201/2010	15x3	6 Members
	-	District Office: Thiruvananthapuram		(3 Boards)	
	10.15 a.m	Staff Nurse Gr.II - Health Services	201/2010	20x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
21/02/2013	2.00 p.m	Staff Nurse Gr.II - Health Services	201/2010	15x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
	10.15 a.m	Staff Nurse Gr.II - Health Services	201/2010	20x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
22/02/2013	2.00 p.m	Staff Nurse Gr.II - Health Services	201/2010	15x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
	10.15 a.m	Staff Nurse Gr.II - Health Services	201/2010	20x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
27/02/2013	2.00 p.m	Staff Nurse Gr.II - Health Services	201/2010	15x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
	10.15 a.m	Staff Nurse Gr.II - Health Services	201/2010	20x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
28/02/2013	2.00 p.m	Staff Nurse Gr.II - Health Services	201/2010	15x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
	10.15 a.m	Staff Nurse Gr.II - Health Services	201/2010	20x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
01/03/2013	2.00 p.m	Staff Nurse Gr.II - Health Services	201/2010	15x3	6 Members
		District Office: Thiruvananthapuram		(3 Boards)	
				(Bal.777)	

KERALA PUBLIC SERVICE COMMISSION DISTRICT OFFICE KOLLAM

Date	Time	Name of Post & Department Category No.	No. of Candidates Admitted	No. of Members
		L.D.Typist (S.R for P.H) various 257/2012 Suitability Assessment of P.H Candidates	12 (Bal.Nil)	2 Members
	10.00 a.m	Villageman (PH) Revenue 259/2012 Suitability Assessment of P.H Candidates	10 (Bal.Nil)	2 Members
07/02/2013		Assistant Salesman Civil Supplies Corporation 98/2010 Suitability Assessment of P.H Candidates	2 (Bal.Nil)	2 Members
	10.30 a.m	Physical Education Teacher (H.S) (NCA-D) Education 393/2011	12 (Bal.Nil)	2 Members
	12.00 Noon	Pharmacist Gr.II (Homoeo) Homoeopathy 271/2011	7 (Bal.Nil)	2 Members
	2.00 p.m	Junior Health Inspector Gr.II (NCA-D) Health Services 432/2011	11 (Bal.Nil)	2 Members

2

	10.00 a.m	Staff Nurse Gr.II		20	2 Members
08/02/2013		Health Services	201/2010		
	2.00 p.m	Staff Nurse Gr.II		15	2 Members
		Health Services	201/2010		
	10.00 a.m	Staff Nurse Gr.II		20	2 Members
13/02/2013		Health Services	201/2010		
	2.00 p.m	Staff Nurse Gr.II		15	2 Members
		Health Services	201/2010		
	10.00 a.m	Staff Nurse Gr.II		20	2 Members
14/02/2013		Health Services	201/2010		
	2.00 p.m	Staff Nurse Gr.II		15	2 Members
		Health Services	201/2010		
	10.00 a.m	Staff Nurse Gr.II		20	2 Members
15/02/2013		Health Services	201/2010		
	2.00 p.m	Staff Nurse Gr.II		15	2 Members
	_	Health Services	201/2010	(Bal.404)	

KERALA PUBLIC SERVICE COMMISSION DISTRICT OFFICE **PATHANAMTHITTA** -

		<u>PATHANAMTHITTA</u>		
Date	Time	Name of Post & Department Category No.	No. of Candidates Admitted	No. of Members
		L.D.Typist (S.R for P.H) various 257/2012 Suitability Assessment of P.H Candidates	9 (Bal.Nil)	2 Members
	10.00 a.m	Assistant Salesman Civil Supplies Corporation 98/2010 Suitability Assessment of P.H Candidates	7 (Bal.Nil)	2 Members
07/02/2013		Villageman Revenue 508/2009 Suitability Assessment of P.H candidates	36 (Bal.Nil)	2 Members
	11.30 a.m	Part Time Junior Language Teacher (Arabic) LPS-NCA-Education 536/2011	5 (Bal.Nil)	2 Members
	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
08/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
13/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
14/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
15/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15 (Bal.349)	2 Members

3

4

ALAPPUZHA

KERALA PUBLIC SERVICE COMMISSION

DISTRICT OFFICE

Date	Time	Name of Post & Department Category No.	No. of Candidates Admitted	No. of Members
	10.00 a.m	L.D.Typist (S.R for P.H) various 257/2012 Suitability Assessment of P.H Candidates	2 15 (Bal.Nil)	2 Members
	10.30 a.m	Staff Nurse Gr.II (PH-Partially Deaf) Health Services 388/2011	4 (Bal.Nil)	2 Members
20/02/2013	11.00 a.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
21/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
22/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
27/02/2013	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
28/02/2013	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
01/03/2013	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15 (Bal. 541)	2 Members

KERALA PUBLIC SERVICE COMMISSION DISTRICT OFFICE KOTTAYAM

Date	Time	Name of Post & Department Category No.	No. of Candidates Admitted	No. of Members
	10.00 a.m	L.D.Typist (S.R for P.H) various 257/2012 Suitability Assessment of P.H Candidates	15 (Bal.Nil)	2 Members
	10.15 a.m	Pharmacist Gr.II (Homoeo) Homoeopathy 271/2011	10 (Bal.Nil)	2 Members
07/02/2013	11.15 a.m	Pharmacist Gr.II (Homoeo) NCA-S.C Homoeopathy 276/2011	4 (Bal.Nil)	2 Members
	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
08/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members

	10.00 a.m	Staff Nurse Gr.II Health Services	201/2010	20	2 Members
13/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services	201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services	201/2010	20	2 Members
14/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services	201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services	201/2010	20	2 Members
15/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services	201/2010	15 (Bal.631)	2 Members

KERALA PUBLIC SERVICE COMMISSION DISTRICT OFFICE

	-	IDUKKI		—
Date	Time	Name of Post & Department Category No.	No. of Candidates Admitted	No. of Members
		L.D.Typist (S.R for P.H) various 257/2012 Suitability Assessment of P.H Candidates	9 (Bal.Nil)	2 Members
	10.00 a.m	L.D.Typist - Various 205/2009 Suitability Assessment of P.H Candidates	2 (Bal.Nil)	2 Members
20/02/2013		Villageman Revenue 508/2009 Suitability Assessment of P.H candidates	47 (Bal.Nil)	2 Members
	11.15 a.m	High School Assistant (Mathematics) Tamil Medium Education 21/2007	15 (Bal.Nil)	2 Members
	2.00 p.m	High School Assistant (Physical Science) NCA-V- Tamil Medium Education 387/2011	16 (Bal.Nil)	2 Members
	10.00 a.m	High School Assistant (Malayalam) SR for P.HEducation244/2012	1 (Bal.Nil)	2 Members
	10.10 a.m	U.P.School Assistant (Malayalam) (NCA-L.C) Education 245/2009	10 (Bal.Nil)	2 Members
21/02/2013	11.30 a.m	Pharmacist Gr.II (Homoeo) Homoeopathy 271/2011	9 (Bal.Nil)	2 Members
	2.00 p.m	Confidential Assistant Gr.II (NCA-S.C,PH(O),OBC,ST)-Various 33/2011	13 (Bal.Nil)	2 Members
22/02/2012	10.00 a.m	Junior Health Inspector Gr.II (NCA-L.C) Health Services 431/2011	20	2 Members
	2.00 p.m	Junior Health Inspector Gr.II (NCA-L.C) Health Services 431/2011	12 (Bal.Nil)	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
27/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
28/02/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr.II Health Services 201/2010	20	2 Members
01/03/2013	2.00 p.m	Staff Nurse Gr.II Health Services 201/2010	15 (Bal.241)	2 Members

KERALA PUBLIC SERVICE COMMISSION DISTRICT OFFICE THRISSUR

Date	Time	Name of Post & Department Category No.	No. of Candidates Admitted	No. of Members
		L.D.Typist (S.R for P.H) various 257/2012 Suitability Assessment of P.H Candidates	15 (Bal.Nil)	2 Members
20/02/2013	10.00 a.m	Villageman Revenue 508/2009 Suitability Assessment of P.H candidates	93 (Bal.Nil)	2 Members
	2.00 p.m	High School assistant (Malayalam) NCA-ST, SIUC N/A.I -Education 82/2009	15 (Bal.Nil)	2 Members
	10.00 a.mPharmacist Gr.II (Homoeo) NCA-M Homoeopathy274/2011		8 (Bal.Nil)	2 Members
21/02/2013	11.00 a.m	Full Time Junior Language Teacher (Arabic) UPS -NCA-L.C,OBC,E -Education 389/2011,390/2011,391/2011	13 (Bal.Nil)	2 Members
	2.00 p.m	High School Assistant (English)NCA-SIUC N-Education 513/2011	17 (Bal.Nil)	2 Members
	10.00 a.m	L.D. Complier /Investigator-NCA P.H (Partially Deaf) Economics & Statistics 344/2011	20	2 Members
22/02/2013	2.00 p.m	L.D. Complier /Investigator-NCA P.H (Partially Deaf) Economics & Statistics 344/2011	15 (Bal.42)	2 Members

KERALA PUBLIC SERVICE COMMISSION DISTRICT OFFICE

Date	Time	Name of Post & Department Category No.	No. of Candidates Admitted	No. of Members
		Villageman - Revenue 508/2009 Suitability Assessment of P.H candidates	71 (Bal.Nil)	2 Members
20/02/2013	10.00 a.m	L.D.Typist (S.R for P.H) various 257/2012 Suitability Assessment of P.H Candidates	15 (Bal.Nil)	2 Members
	2.00 p.m	Confidential Assistant Gr.II (NCA-SIUC N/A.I, LC,M,OX, D,PH (O),OBC) Various 33/2011	20	2 Members
	10.00 a.m	Confidential Assistant Gr.II (NCA-SIUC N/A.I, LC,M,OX, D,PH (O),OBC) Various 33/2011	20	2 Members
21/02/2013	2.00 p.m	Confidential Assistant Gr.II (NCA-SIUC N/A.I, LC,M,O.X, D,PH (O),OBC) Various 33/2011	18 (Bal.Nil)	2 Members
	10.00 a.m	Staff Nurse Insurance Medical Services 32/2010	23	2 Members
22/02/2013	2.00 p.m	Staff Nurse Insurance Medical Services 32/2010	16	2 Members

PALAKKAD

	10.00 a.m	Staff Nurse Insurance Medical Se	ervices 32/2010	24	2 Members
27/02/2013	2.00 p.m	Staff Nurse Insurance Medical Se	ervices 32/2010	16 (Bal.Nil)	2 Members
	10.00 a.m	U.P. School Assistant Education	t (Malayalam) PH 389/2008	1 (Bal.Nil)	2 Members
	10.10 a.m	Driver Gr.II (HDV) (Ex NCA-L.C- N.C.C 13		4 (Bal.Nil)	2 Members
28/02/2013	10.45 a.m	Ayah (NCA-D) Variou	s 210/2011	3 (Bal.Nil)	2 Members
	11.00 a.m	Staff Nurse Gr. II Health Services	201/2010	10	2 Members
	2.00 p.m	Staff Nurse Gr. II Health Services	201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr. II Health Services	201/2010	20	2 Members
01/03/2013	2.00 p.m	Staff Nurse Gr. II Health Services	201/2010	15 (Bal.310)	2 Members

KERALA PUBLIC SERVICE COMMISSION DISTRICT OFFICE MALAPPURAM

Date	Time	Name of Post & Department Category No.	No. of Candidates Admitted	No. of Members
13/02/2013	10.00 a.m	L.D.Typist (S.R for P.H) various 257/2012 Suitability Assessment of P.H Candidates	6 (Bal.Nil)	2 Members
	10.10 a.m	High School Assistant (Malayalam) NCA STEducation82/2009	20 (Bal.Nil)	2 Members
	2.00 p.m	Full Time Junior Language Teacher (Arabic) LPS-NCA-E,L.C,OBC,V - Education 433/2011,436/2011,437/2011, 438/2011	15 (Bal.Nil)	2 Members
14/02/2013	10.00 a.m	Ayah (NCA-L.C) Various 209/2011	1 (Bal.Nil)	2 Members
	10.10 a.m	U.P.School Assistant (Malayalam)(NCA-O.X) Education 245/2009	10 (Bal.Nil)	2 Members
	11.10 a.m	L.D.Typist (S.R for S.T only) Various 321/2010	15	2 Members
	2.00 p.m	L.D.Typist (S.R for S.T only) various 321/2010	17 (Bal.Nil)	2 Members
15/02/2013	10.00 a.m	Staff Nurse Gr. II - Health Services 201/2010	20	2 Members
	2.00 p.m	Staff Nurse Gr. II - Health Services 201/2010	15	2 Members
27/02/2013	10.00 a.m	Staff Nurse Gr. II - Health Services 201/2010	20	2 Members
	2.00 p.m	Staff Nurse Gr. II - Health Services 201/2010	15	2 Members

	10.00 a.m	Staff Nurse Gr. II - Health Services 201/2010	20	2 Members
28/02/2013	2.00 p.m	Staff Nurse Gr. II - Health Services 201/2010	15	2 Members
	10.00 a.m	Staff Nurse Gr. II - Health Services 201/2010	20	2 Members
01/03/2013	2.00 p.m	Staff Nurse Gr. II - Health Services 201/2010	15 (Bal.175)	2 Members

KERALA PUBLIC SERVICE COMMISSION DISTRICT OFFICE WAYANAD

Date	Time	Name of Post & Department Category No.		No. of Candidates Admitted	No. of Members
	10.00 a.m	L.D.Typist (S.R for P.H) various Suitability Assessment of P.H Can	9 (Bal.Nil)	2 Members	
07/02/2013	10.10 a.m	Pharmacist Gr.II (Ayurveda)NCA-E ISM/IMS/Ayurveda Colleges	532/2011	21	2 Members
	2.00 p.m	Pharmacist Gr.II (Ayurveda)NCA-E ISM/IMS/Ayurveda Colleges	532/2011	15	2 Members
	10.10 a.m	Pharmacist Gr.II (Ayurveda)NCA-E ISM/IMS/Ayurveda Colleges	532/2011	21	2 Members
08/02/2013	2.00 p.m	Pharmacist Gr.II (Ayurveda)NCA-E ISM/IMS/Ayurveda Colleges	532/2011	15 (Bal.Nil)	2 Members

Thiruvananthapuram 21/01/2013

C.KUSUMOSKUTTY UNDER SECRETARY for SECRETARY KERALA PUBLIC SERVICE COMMISSION